
   )ج   (ا������ ا�
ورة 1 ر
	 ��وس���ض 
���� ا�ول�  .......................................................................................................................................................ا�

           ABC � ا��او�� 	
�� 
���� A 
��� :=AB 4cm و =AC 3cm.  
  أ��� ا���� )1
2( �� BC: أ�

3(  ���cosأ� ABC. 
���� ا������  ......................................................................................................................................................ا�

  
 

� أ )1��cosα 
2(  �� CHأ�

  
  
  

���� ا���� �  ......................................................................................................................................................ا�

1(  �:     أ��! و�
2 1 8 15

5 3
3 6 9 4

   = − + − −   
   

A x x x        ؛        
1 4

1
2 3

  = − −  
  

B x x  

                                         

2( �#$ :6 5 421 28 35

44 33 22
= − + −C x x x  225  ؛ 10= − +D x x 2  ؛ 16 1 4

2
9 3 3

  = − − − +  
  

E x x x  

���� ا��ا#"�  .....................................................................................................................................................ا�

1( ��:  أ�
2

5

3
 − 
 

     ؛  
3

3

2

−
 
 
 

 

)  :  ات ا�)������  ا�'&�ر )2 )4 23a a×       ؛     
12

5

a

a−     ؛      ( ) ( )6 630, 25 4a
− −−     ؛     ×

( )
7 3

62

a a

a a

− −

−
×

×
 

=390000:     أو/+ ر.&� �-+ار آ� $+د �#� ��� )3 −A       170,00058      ؛ 10B = ×  
  .........................................................................................................................................................................  

A  

B  
H  

C  α  

20 
12 


